MAT 135, Discussion Questions 3.28

1. Find the shaded area with a mean of 100, and a standard deviation of 15.
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2. Find the shaded area under the curve for the cut-off values x = 56,x = 94 for the mean of the
distribution at 75, and a standard deviation of 10.
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3. Find the probability of the shaded region with a mean of 20 and a standard deviation of 3.5.

normal distribution curve
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mean=20 standard deviation=3.5

4. Meanis 21, and standard deviation is 5. The cut-off values are 22 and 28.
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5. Suppose that the mean IQ of a certain high school is 109, with a standard deviation of 13. What
is the standard score (z-score) of a student with an 1Q score of 1257
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6. What is the probability that a student in the school (in #10) will have an 1Q below 125?
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7. What is the probability that a student in the school (in #10) will have an 1Q above 125?
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8. What is the percentile ranking represented by an 1Q of 125?
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On the blank normal distj;bution graphs below, mark the mean and additional values in units of
standard deviations. Shade the region described by the situations for each problem.

9. The mean is 45, the standard deviation is 4. Find the probability of being above 49,
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10. The mean is 62, |the standard deviation is 13. Find the probability of being below 65.

~ ol

N pLowacﬂéC“éﬁt{;@S 62, 3)
Nl - SUT

L SA4NL

A 0w

it 4 ) | | '\l \--_""‘{———._m
25 | =y 3 b2 % &9 Y

11. The meanis 0.31

, the standard deviation is 0.06. Find the prd:bability of being between 0.22 and
0.48.




